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Def:

Absolute Value Functions

f (x)  =

f(x) = Ix1 is really a piece wire tanta

+ x

-  ?

× > 0

x < 0
y = x

( -

Y = - x

@ Graphitts
1x-21+8 1x1

1 x-21+1

1 x - 2 1

aflip Elxt

-  ( x 1



- 2 / x - 1 |  + 1

-2 / x -11+1

- 2 / x - 1 1

- 21x1

* Solve esus

?graphically

S o l v e  f o r  x  i f / x + 4 / = 6
1 ÷ 6

(+)
F i n d  X , 2  4 X 1

(not to
scale)

?  a n a l y t i c a l  s o l u t r o n :  C o n s i d e  t h e  p r e c e w i s .
d e f i n i t i o n

/ x + 4 1 = 6

(- ) Branch (1  Branch

- (X+4) = 6
x+4=-6

x = - 6 - 4

x = - 1 0

+ ( x + 4 )  =  6

x + 4 = 6

x = 6 - 4

x = 2

- O R - x_=-10 XR = 2



O Trick egu:
EX Solve1x+41=-8

alway No Solutionbut

thisis (-) !!

8 Solving

EX

? graphically

> y=- 8

i negua l i t ies
S o l v e  f o r . 1 x 7 4 < 6

AJ y=/x+41
y=6

-  1 0

+  D A T E

T h e  s o l u t i o n  w i l l

? analytically

-  ( x + 4 )  < 6

x + 4 7 - 6
x> , -6 -41
x>,  -10)

a  reg in  : l a<x<b

1 8 + 4 1 5 6

( )
+ ( x + 4 ) 5 6

x + 4 5 6

x ? 2 1

0

a n s :  { x / x + 2 - 1 0 , 2 7

intul:  -  105×52

er set builder
form



EX) Solve

? graphically
speaking

? analytically

Xx+4136

a s s o
-  1 0

-  4

( x + 4 1 > 6

6

y = 6

?graphical solnt

-  1 0

EX S o l v i g

- ( x + 4 )  ? 6

x + 4 5 - 6

×  < - 1 0 )

+ ( x + 4 )  7 6

x + 4 > 6

x 7 , 2

1  o u r

numberling= spl i t  soluth
1 3 x - 5 > 1 3

? algeb.

ograph

* I n t ' v e

- ( 3 x - 5 )  > 1 3

3 x - 5 5 - 1 3
3 x  5 - 8

x < - %

+(3x-5) >13
3 x 7 1 8

x ? 6

a s s i s t s :  1 1 1 1 1 1 8 4 5 0 8
- 8/3 +6

(-00, -%) U (6,00)



EX solve 211-71-4742

(1) isolate the abs, value 1St.

210-713,46

1 0 - 7 1 7 2 3
(ic) (-) (+)

- ( v - 7 )  ? 2 3

1 - 7 5 - 2 3

v  5 - 1 6

+(1-7)  7 ,23
0 7 3 0 )

( 5

- 16

'  l o
owns

2 0  3 0

1 Findily Intercepts
Fid intercept fa f=2/x+3/+1.

oy- int :  x=0+f(6)  = 210+31+1 y-int.
9 ( 0 , 7 ) /

f(o)= 7

o x - i n t :  y = 0 8 0 = 2 1 8 5 3 1 + 1
cil isolate the abs. value

1x+31=-12
(ii) Solve this No soluti No X-int.

sketch V ? (0,7)


